ICMR-RSBY Sampling Frame

Total households
1, 86,515

(Total population was taken among 52 JJ-Cluster which population>=2000 households)

Select total listing
v household (Jhuggis) out

Llstlng householdzl 0’707 of 10,000 households in

every 52 JJ -Clusters
N| according to proportion
of total Households in
respective JJ cluster then
l round off them into 50
or 100 multiples)

v v v v v
G1=205 G2=803 G3=1846 G4=2110 G5=5723 In Listing Survey, we
collected data of 10,707
households and divide
them in FIVE major
v A 4 v v
\ 4 stratums and after that
N1=205 N2=297 N5=297 N8=297 N11=297 again divide in three sub-
02=92 15=92 18=92 011292 stratums (exception G1
nl1=205 stratum).
N3=419 N6=419 N9=419 N12=419 Final
N 1na
=12 =12 =12 12=12
n3 9 né 9 n9=129 n 9 Household
N4=419 N7=419 N10=419 N13=419 Sample
n4=129 n7 =129 n10=129 n13 =129 3,442

N=Listing population; n=household sample; SES=Socioeconomic Status
Listing Sample
Gl N1 nl Have RSBY Card+Hospitlised+Use Card
N2 n2 Have RSBY Card+Hospitlised+Don't Use Card+SES1
G2 N3 n3 Have RSBY Card+Hospitlised+Don't Use Card+SES2
N4 n4 Have RSBY Card+Hospitlised+Don't Use Card+SES3
NS5 n3 Have RSBY Card+Not Hospitlised+Don't Use Card+SES1
G3 N6 n6 Have RSBY Card+Not Hospitlised+Don't Use Card+SES2
N7 n7 Have RSBY Card+Not Hospitlised+Don't Use Card+SES3
N8 n8 No RSBY Card+Hospitalised+SES1
G4 N9 n9 No RSBY Card+Hospitalised+SES2
N10 nl0 No RSBY Card+Hospitalised+SES3
N11 nll No RSBY Card+Not Hospitalised+SES1
G5 NI2 nl2 No RSBY Card+Not Hospitalised+SES2
N13 nl3 No RSBY Card+Not Hospitalised+SES3




